St. PBN Public School, Gurugram
Half Yearly Examination
Class- VI
Subject- English
Sample Paper
Time - 3 hours M.M -80
GENERAL INSTRUCTIONS:

e All questions are mandatory.
e Read the questions carefully before attempting.

SECTION- A (READING)

1.Read the passage given below and answer carefully: (1X5=5)

School life is an important phase in every child's life. It is a time filled with learning,
friendships, and new experiences. In school, students learn not just about subjects like
math, science, and history, but also about values such as honesty, kindness, and teamwork.
Teachers play a significant role in guiding students and helping them grow into responsible
individuals.

In addition to academics, school offers many opportunities for students to explore their
interests. There are clubs for sports, music, art, and various other activities. These
extracurricular activities help students discover their talents and develop skills that will be
useful throughout their lives.

School is also a place where lifelong friendships are made. The bonds formed with
classmates during school years are often cherished for a lifetime. Whether it's playing
together during recess or working on group projects, the experiences shared in school create
memories that last forever.

Questions:

1. What are some of the subjects that students learn in school?
- A) Music, Art, and Dance
- B) Math, Science, and History

- C) Sports, Cooking, and Gardening



- D) Painting, Acting, and Writing
2. What values do students learn in school?
- A) Honesty, Kindness, and Teamwork
- B) Running, Jumping, and Skipping
- C) Cooking, Cleaning, and Washing
- D) Singing, Dancing, and Drawing
3. How do extracurricular activities benefit students?
- A) They help students discover their talents.
- B) They make students tired and bored.
- C) They distract students from studies.
- D) They are only for fun and relaxation.
4. Why are the friendships formed in school special?
- A) They are often cherished for a lifetime.
- B) They are forgotten after school ends.
- C) They are not important.
- D) They only last for a few months.

5. Assertion-Reason Based Question:

Assertion (A):School life is important for personal development.

Reason (R):School life helps students learn new subjects and build lifelong friendships.

Choose the correct option:

- A) Both (A) and (R) are true, and (R) is the correct explanation of (A).

- B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

- C) (A) is true, but (R) is false.
- D) (A) is false, but (R) is true.

2. Read the poem given below and answer the questions that follow:

Poem: The Rainbow



Boats sail on the rivers,
And ships sail on the seas;
But clouds that sail across the sky

Are prettier far than these.

There are bridges on the rivers,
As pretty as you please;
But the bow that bridges heaven,
And overtops the trees,
And builds a road from earth to sky,
Is prettier far than these.
Questions:
1. What do boats sail on?
- A) Clouds
- B) Rivers
- C) Seas
- D) Trees
2. What does the poem say is prettier than ships and boats?
- A) Rivers
- B) Trees
- C) Bridges on the rivers
- D) Clouds that sail across the sky
3. What does the "bow that bridges heaven" refer to in the poem?
- A) A tree
- B) A rainbow
- C) A ship

- D) A bridge on the river



4. According to the poem, what does the rainbow do?

- A) It shines brightly.

- B) It overtops the trees.

- C) It sails across the sky.

- D) It flows in the river.
5.Assertion-Reason Based Question:
Assertion (A):The rainbow is described as prettier than rivers, seas, and trees in the poem.
Reason (R):The rainbow is unique because it builds a road from earth to sky.
Choose the correct option:

- A) Both (A) and (R) are true, and (R) is the correct explanation of (A).

- B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

- C) (A) is true, but (R) is false.

- D) (A) is false, but (R) is true.

SECTION- B (GRAMMAR)

3. Add question tags to the following statements. (1x2=2)
a. The old man looked at the painting made by him .

b. The care taker is taking care of the building.

4. Identify the subject and predicate in the following sentences: (1x2=2)
a. There was road here seventy years back.

b. Go and bring a bottle of water from the freezer.

5. Read the following words and tick the correct option according to their sounds :-
(1X2=2)

a. Bakers
i)/s/ i) /Jiz/ ii) /z/
b. Straberries

i) /s/ ii) /iz/ iii) /2/



6. State the type of the underlined adjective words in the given paragraph : (0.5x6=3)

The five explorers set out on a challenging journey through the dense jungle, hoping to
discover the legendary city of gold. Each carried a sturdy backpack filled with essential
supplies. That particular trail they followed was known for its treacherous terrain. The second
explorer, a tall and brave woman, led the group with a sharp machete in hand. They
encountered several obstacles, including two fallen trees and a narrow river. The explorers
paused to take in the beautiful scenery before continuing their trek. Those old maps they
carried had been passed down through many generations and were said to lead to the
treasure. Which path would lead them to the hidden city?

7. State whether the underlined pronoun in the given sentences are Reflexive or Emphatic
pronoun: (2x1=2)

a) He himself visited the factory to check what the workers were doing.
b) He made himself strong enough to face tough challenges of life.

8. Fill in the correct article ‘a’, ‘an’, ‘the’ or zero article in the given lines.(3x1=3)

a) My brother lives in North America.
b) We saw him moving in corridor.
c) He took out coin from his pocket.

9. State whether the verb in the given sentences are Finite or Non- Finite Verbs.
a) He left his geometry in the class. (1X2=2)

b) Cooking is my passion.

10. Identify and correct the tense mistake in the following sentences: (4x1=4)
a) Yesterday, | will study for my exam.

b) She is making project when the phone rang.

c) By the time we arrived, we has done our work.

d) I am following him for two years.

SECTION-C (WRITING)

11.Write a formal letter to the Principal of your school requesting permission to organize a
cultural event on a grand level on the occasion of Independence Day. Ensure you include the
date, time, and purpose of the event. (6)



12.Write an invitation letter to your friend to attend your birthday party. Provide details
such as date, time, venue, and dress code. Make sure to include a personal touch and
express your excitement. (7)

13.Write a diary entry describing your experience of a recent trip to a hill station. Include
details about the places you visited, activities you enjoyed, and what you learned from the
trip. Express your feelings and thoughts about the experience (7)

SECTION-D LITERATURE

14. Read the lines and answer the following questions-
But let me whisper in your ear mother
she is there in the corner of our terrace

where the pot of Tulsi plant stands

a) Name the poem and the poet? (1)
b) What is the primary theme of the poem? (2)
c) What is the significance of Tulsi plant in the poem?? (2)
15. Answer the following questions in brief . (2X5=10)

a) What secret did Mulan hide from the emperor of China and why?
b) Describe launch of Mangalyan in your own words.
c) Who was Mowgli? How did he reach in jungle?

d) "The rainbow shows all the colors of life, which is why the poet is fascinated by it. Justify
this statement using the poet's words from the poem 'My Heart Leaps Up.""

e) How does the speaker describe the appearance of the king's palace and the queen's jewel
?What effect does this description have on the readers understanding of the palace and the
plains wealth?

16. Answer the following questions in detail:- (3X2=6)
a) Describe the role of gravity and atmosphere in the launch of Mangalyan.

b) " H'sh. It is neither bullock nor buck he hunts tonight, "

i) Who was the speaker?

ii) Who was Shere actually hunting for on that night?



iii) What does law of jungle say about hunt of man by animals?

17. Case study Based Questions: (2x2=4)
There is none in the world
who can find her but myself

a) Imagine you are in a quiet corner of your terrace, just like the child in the poem. You notice
a small, ordinary object, like a flower pot or a toy. Suddenly, your imagination turns it into
something magical—a king's palace or a sleeping princess.How would you describe this
ordinary object using your imagination? What magical qualities would you give it, and how
would this new magical world look to you?

2.Suppose you discover a hidden place in your home, like the child finding the king's palace on
the terrace. You decide that this hidden spot holds a secret that only you know about—a
treasure or a magical being.What would you do with this secret? How would you keep it safe,
and who, if anyone, would you share it with? Describe how this secret makes you feel and why
it is important to you.

18. Write the meaning of the following words:- (1X5=5)
a) impassable

b) barbarous

C) steed

d) spaceship

e) piety
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St. PBN PUBLIC SCHOOL, GURUGRAM
HALF YEARLY EXAMINATION
CLASS - VI
MATHEMATICS
SAMPLE PAPER

Time: 2 Hours M. M: 80
General Instructions:

All questions are compulsory.

Question paper consists of five parts.

Part-l contains 10 Multiple Choice Questions, each carrying 1 mark.
Part-ll contains 11 questions each carrying 2 marks.

Part-lll contains 8 questions each carrying 3 marks.

Part-1V contains 4 questions each carrying 4 marks.

Part-V contains 2 case study questions each carrying 4 marks.

Q.1Choose the correct answer: (1x10=10)
1) 37 +—=
100
a) 375 c) 37.05
b) 37.5 d) 3.705

2) Straight angle is an angle whose measure is
a) 180° c)0°
b) 360° d) 90°

3) What is the smallest odd prime?

a)l c)2
b) 5 d)3
4) Which number in the following is the largest?
a) 3 c)-8
b)0 d) -18

5) 21-12+3x2=
a) 13 c) 19
b) 6 d) 34

6) The number of sides of a quadrilateral is
a) 3 c)5
b) 4 d) 6



7) Write the fraction representing the shaded portion.

3
a) 55 c)= 5
b) 5 d) 5

8) A triangle having two sides equal is known as
a) scalene triangle c) equilateral triangle
b) isosceles triangle d) none of these

In each of the following questions, an Assertion (A) and a corresponding Reason (R)
supporting it are given. Study both the statements and state which of the following
option is correct.

9) Assertion (A): A line segment is part of the line that connects two points.
Reason (R): A line has only two end points.
a) Both A and R are true and R is the correct explanation of A.
b) Both A and R are true, but R is not the correct explanation of A.
c) Ais true, but R is false.
d) A is false, but R is true.

10) Assertion (A): If the angle formed where two line segments meet goes beyond a right
angle, it’s obtuse.
Reason (R): An obtuse angle has a measurement greater than 90° but less than 180°.
a) Both A and R are true and R is the correct explanation of A.
b) Both A and R are true, but R is not the correct explanation of A.
c) Ais true, but R is false.
d) A is false, but R is true.
Partll

Q 2 Solve the following questions: (2x11=22)

1. Kanchan dyes dresses. She had to dye 30 dresses. She has so far finished 20 dresses.
What fraction of dresses has she finished?

2. Write each of the following as decimals:



(mm%

1
(b) 397

3. Find the successor of each of the following integers:
(i)—73
(i) -1

4. Simplify: 36 —[18 = {14 — (15-4 + 2 x 2)}]
5. The digits of 6 and 9 of the number 86790 are interchanged. Find the difference
between the original number and the new number.

6. Find the difference between the place values of 3 in 3227375.
7. The sum of two integers is — 263. If one of the integers is 142, find the other.

8. Vineeta bought a book for Rs 18.90, a pen for Rs 8.50 and some papers for Rs 5.05. She
gave fifty rupee to the shopkeeper. How much balance did she get back?

9. Manish read 25 pages of a book containing 100 pages. Lalita read zsof the same book.
Who read less?

10. Draw a figure of:
(a) open curve
(b) closed curve

11. Simplify: 8 —[28 + {11 — (36 — 18 + 9 x 8 of 2)}].

Part —lll

Q3 Solve the following questions: (3 X8=24)

1) Write the smallest and the largest six digit numbers. How many numbers are between
these two. Write the answer in words.

2) (a) A group of friends shared a cake. If each friend received 1/8 of the cake, and there
were 6 friends in total, how much cake was shared?
(b) If Raj has eaten 3/5 of a chocolate bar, how much is left?

3) Simplify:
(@) 5x(-2) x (-3) x (-4) + 2
(b) (-8) x 3 +(-2) x (-5) - 4

4) From the sum of -93 and 106, subtract the difference of 43 and -86.



5)

6)

7)

8)

In a large housing complex, there are 15 small buildings and 22 large building. Each of
the large buildings has 10 floors with 2 apartments on each floor. Each of the small
buildings has 12 floors with 3 apartments on each floor. How many apartments are there
in all?

An ice cream vendor sold 2/3 of his ice creams in the morning and 3/5 of the remaining
ice creams in the evening. If he had 40 ice creams, how many did he sell in the evening?
(a) A bag of marbles contains 0.75 red marbles and 0.35 blue marbles. How many
marbles are there in total?

(b)If the cost of one pencil is X2.50, how much will 8 pencils cost?

A juice factory produced 175.5 liters of orange juice. They want to package the juice into
bottles, with each bottle holding 0.75 liters. How many bottles will be needed to package
all the juice?

Part -V

Q 4 Solve the following questions: (4X4=16)

1)

2)

3)

4)

In a class test containing 25 questions, 4 marks are given for every correct answer and -2
marks are given for every wrong answer. A student attempts all questions and 20 of his
answers are correct. What is the total score of the student?

(a) Write the largest 4-digit number and give its prime factorization.
(b) What is the smallest number that, when divided by 35, 56 and 91 leaves remainder
of 7 in each case?

In a triangle XYZ, angle X measures 50° and angle Y measures 70°. Calculate the measure
of angle Z. Determine whether the triangle is acute, obtuse, or right-angled.

From the figure, identify:
(a) Achord

(b) A sector

(c) A segment

(d) A point in the exterior




Part -IV

Q 4 Case study based questions. (4X2=8)

1) Raj is a fruit vendor who sells fruits in his neighborhood. He has a cart filled with a variety
of fruits. Let's explore some fractions related to his fruit stand.

(a) Raj's cart has 18 apples, 12 bananas, and 15 oranges. Calculate the fraction of each type
of fruit in the cart.

(b) If Raj sold 3/5 of the bananas and 2/3 of the oranges, how many bananas and oranges
did he sell?

(c) Raj decided to share some fruits with his two friends. He gave 1/4 of the remaining
apples to one friend and 3/10 of the remaining oranges to the other friend. How many fruits
did each friend receive?

(d) Write two equivalent fractions of %

2) The students of Class 6 at Greenfield School are participating in a science fair. They are
conducting experiments and showcasing their findings.

. : 25 . 3. 5
(a) For their experiments, the students used T litres of water, n kilograms of flour, and %
metres of string. Write down the quantities of each supply in decimal form.

(b) The students created a display with three different-sized plants. Plant A grew 6.2 cm,
Plant B grew 4.8 cm, and Plant C grew 3.5 cm. Calculate the total growth of all three plants.

(c) One group of students recorded the temperature in degrees Celsius for three consecutive
days: 27.5°C, 28.9°C, and 26.8°C. Find the maximum and minimum temperature.

(d) The students created posters for their projects. The printing cost for one poster is X15.75.
If each student made one poster, and there are 25 students in the class, calculate the total
printing cost.



St. PBN PUBLIC SCHOOL, GURUGRAM
HALF YEARLY EXAMINATION
CLASS - VI
SCIENCE
SAMPLE PAPER

TIME: 3Hours M.M.- 80
GENERAL INSTRUCTIONS:

1. All questions are compulsory.
2. Read the questions carefully before attempting.
Q I. Choose the correct option and write in your answer sheet: (1x10=10)
1) Green leaves protect the floral parts in bud stage are called
a) Scale leaves
b) Leaves
c) Petals
d) Sepals
2) Which of these adaptations keep the yaks warm in cold climate?
a) Scales
b) Feathers
c) Hair
d) Shells
3) Which of these is also called the golden fibre
a) Flax
b) Silk
c) Hemp
d) Cotton Silk
4) materials do not allow light to pass through them
a) Opaque

b) Transparent



c) Translucent
d) Glass
5) Which of these lives on dead and decaying animals?
a) Honey
b) Chickpeas
c) Pigeon pea
d) Lentils
6) Night blindness is caused due to the deficiency of
a) Vitamin A
b) Vitamin B
c) Vitamin D
d) Vitamin C
7) Permanent magnet can be made from
a) lron
b) Cobalt
c) Nickel
d) Copper
8) The rotation of the earth on its own axis is a
a) Curvilinear motion
b) Rotational motion
c) Rectilinear motion
d) Periodic motion

ASSERTION-REASONS QUESTIONS

In the following questions, two statements are given—one labelled Assertion (A) and the
other

labelled Reason (R).

Select the correct answer to these questions from the codes (a), (b), (c) and (d) as given
below:



(a) Both Assertion (A) and Reason (R) are correct statements, and Reason (R) is the correct
explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are correct statements, but Reason (R) is not the
correct

explanation of the Assertion (A)

(c) Assertion (A) is correct, but Reason (R) is incorrect statement.

(d) Assertion (A) is incorrect, but Reason (R) is correct statement.

1) Assertion: cactus plant has thick waxy coating.

Reason: waxy coating helps to retain water.

2) Assertion: electricity is used to make temporary magnets.

Reason: - a magnet produces a force between two different poles.

Q Il. Answer the following questions: (1x7=7)
1) Write one advantage of using cotton fabric.

2) Name the protein deficiency diseases in children.

3) Name the materials which make the electricity to flow through them.

4) In which part of the flower are you likely to find the ovary?

5) What is acclimatisation?

6) What is a physical quantity.

7) What is self-demagnetisation

Q lll. Attempt any 4 and answer the following questions in 30 words. (2x4=8)
1) Which fabric dries out faster cotton or rayon? why?

2) How is electromagnet differ from bar magnet

3) Explain the types of motion of the Earth

4) Dodder and Betel take the support of other plants for their growth. Then how they differ
from each other.

5) How do conductors differ from the insulators
Q IV. Answer questions in brief (3x7=21)

1) how are different materials grouped based on transparency? Give examples.



2) Explain the process of production of cotton

3) Roots help a plant in many ways they are important for many functions besides anchorage
and absorption. How are they useful for a plant? Explain in detail.

4) What is translation motion? Explain with examples. Write its main types.

5) What is magnetisation? How can you magnetise a material using a magnetic material and a
magnet? Explain.

6) How does the streamlined bodies help the animals living on land

7) simple sugar provides instant energy while complex sugar does not. why?

Q V. Answer the following questions in detail . (5x3=15)
1) Give Reason

a) we should drink at least 6-8 glasses of water every day. (1.5)

b) stems prepare food in cactus instead of leaves. (1.5)

c) Camouflage is a powerful mode of adaptation. (2)

2) (a) why different plants get modified to store food.

(b) why synthetic fibres are used to make climbing ropes.

3) explain the properties of metal s. Do all metals possess similar properties? Explain with
example.

Q VI. Value based questions (2.5x1=2.5)

Sonam while helping her mother in kitchen work saw that her mother cut the vegetables and
then washed them. On seeing that she immediately stopped her mother and told her that one
should always wash vegetables prior to cutting. Because washing vegetables after they had
been cut leads to nutrients loss.

(a) What are the different types of nutrients found in food?

(b) On washing cut vegetables which kind of nutrients are lost?

(c) What value of Sonam is seen here?

Q VII. HOTS based questions (2.5x1=2.5)

1. why are some insects green and have a leaf- like shape? What is the adaptation called?
Q VIIl. Diagram based questions. (3x2=6)

1. draw and give example of leave showing parallel venation.



2. draw different arrangements of north pole and south pole in ring magnet.
Q IX. Case study based questions (4x2 =8)
Case Study I:

Q-5Take some dry seeds of moong or chana. Put a small quantity of seeds in a container filled
with water and leave this aside for a day. Next day, drain the water completely and leave the
seeds in the vessel. Wrap them a piece of wet and set aside. A small white structure may have
grown out of the seeds. If so, the seeds have sprouted. If not, was the seeds in water, drain the
water and leave them aside for another day, covered with a wet cloth. The next day, see if the
seeds have sprouted. After washing these sprouted seeds, you can eat them. They can also be
boiled. Add some spices and get a tasty snack to eat.

Bees collect nectar (sweet juices) from flowers, convert it into honey and store it their hive.
Flowers and their nectar may be available only for a part of the year. So, bees store this nectar
for their use all through the year. When we find such a beehive sweet liquid that bees collect
flowers to make honey.

Que. 1) Name the sweet liquid that bees collect from flowers to make honey?
(a) Honey
(b) Nectar
(c) Juice
(d) Beehive
Que. 2) Bees collect nectar from fruits of plants?
(a) True
(b) False

Que. 3) Humans collect honey

(a) Nectar

(b) Beehive

(c) Nest

(d)Dairy farm

Que. 4) When will you say that seeds of moong have sprouted?

Que. 5) Why do bees Store nectar in their hives



Case Study Il:

here are many ways by which fabrics are made from yarns. The two main processes are
weaving and knitting. The process of arranging two sets of yarns together to make a fabric is
called weaving. Weaving of fabric is done on Looms. The looms are either Hand operated or
power operated.

In knitting, a single yarn is used to make a piece of fabric.

For instance, if you pull the yarn from a Torn pair of socks, you will see that A Single yarn gets
pulled out continuously as the fabric gets unraveled. Socks and many other clothing items are
made of Knitted fabrics. Knitting is done by Hand and also on machines.

QUE.L) ettt ettt ettt ereeae b e eaeeae b be e naeeaeebeeraenresaeennes Are used for weaving of fabric,
which are either Hand operated or power operated.

a) Machines

b) Looms

c) Yarns

d) Fibres

Que.2) Socks are made from weaving of fabrics?

a) True

b) False

Que.3) Knitting and weaving are two ways of making fabrics from yarn?
a) True

b) False

Que.4) What is weaving? How is it done?
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GENERAL INSTRUCTIONS:

1.
2.

All questions are compulsory.
Do as directed.

Q1. Fill in the blanks with suitable words. (1x5=5)

The system of the Indus cities stand out as remarkable among the
cities of the world at that time.

Water covers % of the Earth’s surface.

inequality refers to variations in income levels of the people
living in a community or country.

The Vedic people lived in and houses.

The is the largest among the inner planets.

Q2. Choose the correct options- (1x5=5)

1.

The year 50 BCE:

a. comes before the year 110 BCE

b. comes after the year 110 BCE

c. lies in the same century as 110 BCE
d. lies in the same decade as 110 BCE

. In which of these Neolithic sites was cord-impressed pottery found?

a. Mehrgarh
b. Bhimbetka
c. Daojali Hading
d. Adamgarh

. Itis found out that a minister in the government is involved in illegal activities that can

compromise the security of the country. What can the citizens of the country do about
it?

i. They can vote the minister out of power in the next election.

ii. They can voice their protest through the media.

iii. They can file a case against the minister in the Supreme Court.



Options:
a.i, ii

b. ii and iii
C. i, iii

d. i, ii, iii

4. Which of these countries will be the first to celebrate New Year 20257
a. New Zealand
b. India
c. Bangladesh
d. Pakistan

5. Which age coincides with the rise of the Vedic culture in northern India?
a. lron Age
b. Bronze Age
c. Stone Age
d. Megalithic Age

Q3. State whether the following statements are True or False- (1x5=5)

i) Humans started settling down in one place to practice farming in the Neolithic Age.

ii) In a democracy, the government controls the media.

iii)  All lines of latitude are of the same length.

iv)  The study of events that happened before humans learnt to write is called
prehistory.

V) The government issues the currency of a country.

Q4. Observe the following picture and answer the questions that follow. (5)

(a) Identify the constellation shown in the picture. (1)
(b) Name the star at the right upper corner of the flag. (1)
(c) Which state’s flag is it? (1)

(d) Define constellation. (2)



Q5. Case study (5)

Nowadays, digital maps have become more popular than printed maps. While printed maps
are made on paper, digital maps are electronic maps. A variety of cartographic information
is processed electronically and the output is displayed on an electronic screen, such as that of
a computer, tablet or a smartphone. Digital maps can be accessed at the touch of a button.
They are freely scalable, and can be converted from a country-level small scale map to a
street-level large scale map, just by zooming in or out. They can be updated easily. They are
also interactive, and can be used to navigate through traffic or find the best route to our
destination.

1. What is a digital map? (1)

2. Distinguish between digital maps and printed maps. (2)

3. Can you think of a situation where you will use a digital map and a situation where you will
only use a printed map? Give reasons for your answer. (2)

Q6. Answer the following questions in one word or few words- (1x10=10)

i) The period of transition between the Old and the New Stone Ages:
i) Mention any place where the earliest Neolithic settlements were found.
iii)  Another name for the Indus Valley Civilisation.

iv)  The blanket of air surrounding the Earth:
") Which is the body that rules a State.

vi)  Name the term that means being responsible for one’s actions.

vii)  Which is the highest body in the panchayati raj system?

viii)  Mention the major source for the study of the history of the Vedic people.
ix)  The time when the Sun is vertically on the Tropic of Capricorn or Cancer:

X) Bogali Bihu is celebrated in which the state of India?
Q7. Answer the following questions in brief - (2x5=10)

i) Name the four key elements of democracy.
ii) How do we tell dates in history?

iii) How does the Sun support life on Earth?

iv) Give two examples of social diversity in India.
v) What is the Earth grid?

Q8. Answer the following questions (3x5=15)

i) How does archaeology help us find out more about the past?



ii) What is a leap year? How often does a leap year occur? How do we know if a year is
a leap year or not?

iii)  What, according to you, is the significance of education in removing gender
inequalities in India?

iv)]  When and how did the IVC evolve? When did it reach a highly developed phase?

V) What is a map? What are the uses of maps?

Q9. Answer the following questions in detail- (5x3=15)

i) What, according to you, are the merits and demerits of the Varna system?
OR
a. Differentiate between coins and seals.
b. Why it became easier to hunt fast-moving animals in the Mesolithic age?

ii) Explain how days and nights are caused by rotation. It would be difficult for life to survive
on the Earth if it stopped rotating. Do you agree? Give reasons for your answer.
OR
What are plains? How are they formed? Why do people prefer to live on plains?
iii) Why is local self-government described as ‘Power to the people’?
OR

Evaluate the importance of the Panchayati Raj system.

Q10. On the outline map of India mark the following: (1x5=5)
i) Chirand
i) Inamgaon

iii) Daojali Hading
iv)  Draw the North Line
V) Identify the scale on the map
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General Instructions:

1. All questions are compulsory.
2. Read each question carefully.

Q.1 Multiple choice questions- (1x10=10)
1. A is a type of diagram that represents an algorithm and its workflow.
a) Flow chart b) Pattern c) Computer

2. Abstraction refers to filtering out

a) Irrelevant details b)lrrelevant solutions c) Irrelevant problems
3. depicts the pattern, colour or symbols which are assigned to the data series.
a) Chararea b) Legend c)Plot area
4. Cut, fade, push, wipe, split etc. are examples of effects.
a) Transitions b) Animation c¢) Customised
5. New slide drop-down menu is on present on the tab.
a) Insert b) Home c)View
6. Computer vision requires as datasets.
a) Same type of image b)Less images c) Lot of varied images

7. Which among the following is an application of computer vision?

a) Manufacturing b) Agriculture c)Bothaandb

8. In Microsoft excel, button is used to perform addition of a range in a
cell.
b) Sum b) Auto sum c) Addition

9. box shows the address of an active cell.



c) Cell b) Name c) Formula

10.Which among the following is a data type in worksheet?

d) Numbers b) Text c)Bothaandb
Q.2 Fill in the blanks: (1x8=8)
1. Name box is present above the -heading.
2. bar shows the data and information entered in an active cell.
3. technique in computer vision is used in self driving cars for identifying the
path.
4. Computer vision is a subfield of and
5. From beginning button is present on the tab.
6. It is essential to connect a to the computer while recording your
sound.
7. Animation effects can be applied on both and on a slide.
8. is the first cell address in excel.
Q.3 State True or False: (1x5=5)

1. You can choose transition sound effects from the transition sound drop-down arrow.
2. Media group is present on the insert tab.
3. Robotics is not an application of computer vision.
4. Computer vision learns from experiences.
5. We cannot change sheet name in excel.
Q.4 Assertion and Reason-

In the following questions a statement of assertion is followed by a statement of
reason select the correct answer (1x2=2)

1. Assertion: Every formula must be begin with an equal to(=) symbol.
Reason: Formulas are used to perform calculations in excel.
a) Both Assertion (A) and Reason (R) are true and Reason (R) is a correct explanation of
Assertion (A).
b) Both Assertion (A) and Reason (R) are true but Reason (R) is not a correct explanation
of Assertion (A
c) Assertion (A) is true but Reason (R) is false.
d) Assertion (A) is false but Reason (R) is true.

2. Assertion (A): Google lens is used to know the detail of any image.
Reason (R): Google lens helps to capture images and record videos.
a) Both Assertion (A) and Reason (R) are true and Reason (R) is a correct explanation of
Assertion (A).



9.

b) Both Assertion (A) and Reason (R) are true but Reason (R) is not a correct explanation
of Assertion (A)

c) Assertion (A) is true but Reason (R) is false.

d) Assertion (A) is false but Reason (R) is true.

Application based questions: (1x15=15)

The class teacher has asked Rohan to create a worksheet displaying the employee detail
of any company. She has also asked him to save it with the name of his choice and
further rename the worksheet by specifying the name, “Employee detail”. Suggest him
method to rename the worksheet.

. Neha is excited about learning computational thinking at school. She wants to explain to

her parents that computational thinking will help her in developing some key skills.
What key skill should she mention to her parents?

. Ahana wants to insert video clip in his presentation. Suggest him the steps to complete

this task.

. Seema has made a presentation on “Our Environment” with 10 slides in it. She wants to

insert her own voice in the background. Suggest her which option she can use to
complete the task.

. Write down the shortcut keys for the following functions-

a) To insert a new worksheet.

b) To go to specific cell

c) To open the shortcut menu

d) To insert new slide in Powerpoint
e) To exit from slide show

. Write down the steps to open Microsoft Excel.
. What is the use of Star symboi;f% in the animation pane of Powerpoint?

Identify and write the name and function of given icons.

d. .
b 9

Write down the steps to apply a background image in a presentation.

10.Draw the flow chart to find product of any two values.

Q.6 Answer the following in one word or one sentence. (1x10=10)

1.

Which button is used to run slide show?



2. Which option uses rectangle, ovals, diamonds and several other shapes to define
process flow?

Write the name of any two components of chart.

Which tool is used to change the colour of cells/ rows and border in excel?

What is the function of from beginning option in animation tab?

Define Al.

What is the use of Google lens tool?

Who developed the Google Lens tool?

© PNV RW

. Name the first electronic spreadsheet program.
10.Which shortcut key is used to make duplicate of the current slide?

Q.7 Answer the following in short- (2x5=10)
1. What are patterns?
2. Define the term chart? Name any two types of chart.

What is meant by transtion?

Write the working of computer vision.

LAl

What is the use of name box?

Q.8 Answer the following questions:[Attempt any 4] (3x4=12)
1. Differentiate between a workbook and a worksheet.

Differentiate between Category axis and Value axis.

How does a self driving car work?

Write any three features of excel.

i dWwWN

How many types of data can be entered in an excel sheet?
6. What is an Action button? Why do we use it in a slide?
Q.9 Case study base questions. (4x2=8)

Table: Stationary items

Food Item Quantity Unit Price(Rs.) | Total Price(Rs.)

Pencil 150 5

Notebook 50 60

Book 30 400

Pen 100 20

Colour 40 100

a. Observe given table and answer following questions-
1. What will be the cell address of Pencil’s quantity?



2. What will be the cell address of Colour’s total price?
3. Write the formula to calculate total quantity of all stationary items.
4. Write the formula to calculate total price Notebook.

b. Excel formulas and functions are powerful tools that allow users to perform a wide

range of calculations, data analysis, and automation within spreadsheets. Formulas in
Excel are expressions that combine values, cell references, and operators to perform
specific calculations. For instance, a simple formula might add two numbers together,
while more complex formulas can calculate loan payments or determine statistical
metrics. Functions, on the other hand, are predefined formulas that simplify complex
tasks. Excel offers a vast array of functions, such as SUM for adding a range of cells,
AVERAGE for calculating the mean.

c. Answer the following questions

1.

Write an example of formula that you use in excel.

2. Name any two function name of excel?
3.
4. Write any one difference between formula and function.

Can we edit formula values? Yes/No
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